
nB Classifier. Repeated k-cv. 2-DB structure
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Figure 1: Prediction Error

2



−
0.

08
−

0.
07

−
0.

06
−

0.
05

−
0.

04

sample size

bi
as

k=2
k=5
k=10
k=n

1% 5% 10% 25%

(a) C=2

−
0.

02
−

0.
01

0.
00

0.
01

sample size

bi
as

k=2
k=5
k=10
k=n

1% 5% 10% 25%

(b) C=3

−
0.

04
−

0.
03

−
0.

02
−

0.
01

0.
00

0.
01

sample size

bi
as

k=2
k=5
k=10
k=n

1% 5% 10% 25%

(c) C=4

−
0.

04
−

0.
03

−
0.

02
−

0.
01

0.
00

0.
01

0.
02

sample size

bi
as

k=2
k=5
k=10
k=n

1% 5% 10% 25%

(d) C=5

Figure 2: Prediction Error Bias
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Figure 3: Prediction Error Standar Deviation
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Figure 5: Expected Prediction Error
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Figure 6: Expected Prediction Bias
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